W B , B, C and D to each
4 | N questl given. The choice which you think is

correct, fill that circle in front of that question with

marker or Pen ink in the answer-book. Cutting or

filing tWO or more circles will result | .
i |
that question. N zero mark in

x = 0 Is a solution of the inequality

Iy §4-1-
(@) 3x+95<0 (b) x>0
| (c) x+2<0 d) x-2<0¥
Q ._: 9 Mid-point of the points (2, —2) and (-2, 2) is:
_ (a) (2,2) (b) (-2, -2)
| (c) (0,0) v (d) (1, 1)
3. A line segment has end points.
f (@) 2V (b) 3
(c) 4 (d) S
The square root of a —2a + 1 is
(@) t(a+1) (b) £(@-1)
(c) a—1 (d) a+1
Write 7\& in exponential form:
(a) x (b) x™
._Ir _ (C) x? (d) x1/7 ‘/
' 6- The degree of polynomial 4x* + 2x%y is
' (a) 1 (b) 2
= (c) 3 (d) 4 V .
7. Bisection means to divide into equal parts.
(@) 2V (b) 3
(c) 4 (d) S

8- A diagonal of parallelogram divides it into
congruent triangles.

(a) 3 (b) 2 V
(c) 4 (d) 5



) (1,-1) v d) (-1, -1)
11- The symbol used for similarity I8

(@) = (b) L
(c) « d) ~ v
12- In a parallelogram, opposite angles are

(b) Congruent v

(d) Perpendicular
congruent is callg

(a) Parallel

(c) Concurrent
13- A triangle having two sides

(a) Scalene (b) Right angled
(c) Isosceles v  (d) Equilateral
14- The factors of x? — 5x + 6 are

(@) x¥1,x-6 (b)) x-2,x-3V
(c) x+6,x-—1  (d) x+2,x+3
15- The relation y = log, X implies
(a) Z¥=xV (b) y* = X
(c) X¢=y (d) ¥ =2z




s.
AR

9th Class 2017
(Part.))

write short answers to any Six (6 :
pefine the scalar matrix. y (6) questions: 12

A diagonal matrix is called a scalar matrix, if all the
nal entries are same and non-zero.

L &
 giag®
. | gind the product: [-3 0] [3]

g
| 4
@ -3 O] [0] = [-3(4) + 0(0)]
E =[-12 + 0]
‘- = [-12]
| . : o
(i) Simplify: =
" 3. N8
> % 532
3)1/5 21/5
=132)15 " 2515
3115
f 7T
(iv) Find the value of : i’
m | i12 - (i2)6 |
= (__1 )6
= 1

~ (v) Find the value of x: log, 64 = 2

D Given, log, 64 = 2
: In exponential form, .
| x? = 64
x2 = 82
X =28
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(vii) Reduce th
form:

120x3y3z>

30x3yz?

yz
120)(2! !5 = 4)(2_3 y3—1 y5—2

30x3yz?

D

.\/@ 03
b 3x7x3x3
& 33X T
=4/3

(ix) Factorize: 3x2-—75y?
LID 3x2 _ 75y2 = 3(x2 — 25y?)

= 3{(x)? - (5y)?)
= 3(x + Jy)(x - 3y)

Write short answers to any Six (6) questions: 12
Find H.C.F of: 39x7y3z, 91x%y®%27

3.
(i)
Ansg

Factors of 39x’y3z=3x13.x.x.X.X.
Factors of 91x°y%z2" =7 x 13 . x . X . X . X.
- V. 2.2.2.

X.X.X.y.y.Y.Z

X
r 4
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Define the ordered pair.

An ordered pair of real numbers x and y is a pair (X,
y) in which elements are written in specific order, i.e., (X, Y)
is an ordered pair in which first element is x and second

~ element is y, such that (x, y) # (Y, X).
(v) Find the value of m and c of 2x — y = 7 by
expressing it in the form y = mx + C.

(D 2x —y.= T
2X— 1 =Y
y=2X—1

=r=
Here, [m = 2],

(vi) Find the distance between the pair of points:
A (_81 1)! B (6! 1)

iv)



A.S.A postulate. | _
rrespondence of tWO triangles, if tWo ang|e,
triangle are congruent to th

e g | ne :
and their included side of O i included side of th

sponding twoO angles and the
el ghen the triangles are congruent.

other triangle t
(ix) Define parallelogram. | .
_collinear points in the

XD A figure formed by four non

plane is called a parallelogram, if: |
1. its opposite sides are of equal measure,

2. opposite sides aré parallel;
3. measure of none of the angles is 90°.

4. Write short answers to any Six (6) questions: 12

(i) Define bisector of an angle.
XD Angle bisector is the ray which divides an angle into

two equal parts.
(i) If 3 cm, 4 cm and 7 cm are not the lengths of a

triangle, give the reason?
D - 3+427
. 3,4, 7 are not the lengths of a triangle, because

the su}ﬁ of the lengths of any two sides of i '
atr
greater than the length of the third side. langle is




D As APQR is an isosceles triangle, .. PQ = QR

le., Xx=10cm '
Also perpendicular form P on QR bisects QR
: y=6cm

(vi) I;ind the unknown value in the given figure:

4 cm

-3cm

WD As, (Hyp)? = (Base)? + (Alt)?
(X)? = (3)% + (4)?
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Define area of a figure.

The region enclosed by the boundary lines of
closed figure is called area of a figure. -a

(viii) Construct AXYZ, in which mXY = 5.5 cm, mZR
~ 4.5 cm and m£Z = 90°. 3

Ansg

Z 4.5 cm X

(ix) Define circumcentre of a triangle.

B> The point of concurrency of the perpendlcular'
bisectors of the sides of a triangle is called circumcentre. [

(Part-ll)
NOTE: Attempt THREE (3) questions in all. But|
question No. 9 is Compulsory.
Q.5.(a) Solve by using Cramer’s rule: (4)
4x + 2y =8
3X -y = -1
Ans 4x + 2y =8

3X -y =-1
By converting in matrix form:

s ally)=[ ]

AX=B




3 -

* =8(-1) - (-1)(2)
= -8 + 2
= -6

4
Nl

=4(-1) - 3(8)
=_4-24

= -28

? Now, for the values of x and y

(al—m+m—n+n—!)1i3
(80)1/3
“(1 )1/3
= :
Q.6.(a) Use log tables to find the value of:

0.7214 x 20.37
608

(4)



1 [log 0.7214 + I0g 20.37 - g 60.8

log X =
jog x = & [1.8692 + 1.3090 - 1.7839]
- 1 (-0.1418 + 1.3090 - 1.7839)

=1 (-06167)

x = Antilog 7.7944
x = 0.6229

(b) Find the value ofx3-£3, if : x-'%= 7

1

Q.7.(a) Factorize:
Anse Given, ‘
X3 +48x - 12x2 - 64

(4



L LR MATHEMATICS QThl
e (x)* * 3(x)*( 4) ¢ '!(!)( 4)" + (-4)*
= (X 4)*
nd square root by using division method: (4)
Ax* + 12xy + Oy? 4+ 16x + 24y + 16
2X + 3y + 4
X | 4x% + 12xy + Oy? + 16x + 24y + 16
+4 x?
4x + 3y 12xy + Oy?
| | +12xy + 9y?
| dx + By + 4 16x + 24y + 16
+16x + 24y + 16
0

Square root = +(2x + 3y + 4)
- a.8.(a) Solve the given equation: (4)

i_J x=1_3_;_
f Ancg J——l
. e
N

9
=Y

(o)

S( ) — B6X

3_.
6

5x — 15 — 6X
—X —

i

(o
I

X

'i

H

6

| 0

15 _9 X
- 9
By cross multiplication
—Ox — 135 =54 - 6X
—9x + 6x =54 + 135
-3x =189

189
S

- x=-63
(b) Draw altitudes of APQR, when mPQ = 6 cm, mQ4R
-45cmandeR =5.5cm. (4)

Ansg




Steps of Construction:

1. Take PQ line as 6 cm long.

2. At point P, draw a 5.5 cm arc, | e
f them cut each other at point i o

3 Join R with P and Q.
4  Then draw relevant altitudes of P, Q and R.

5  Thrice of these altitudes are the concurrent.
Q.9. Prove that any point inside an angle, eqUidistant

from its arms, is on the bisector of it. (8
LUD> Given: )
Any point P lies inside ZAOB such that PQ = pp
where PQ L OB and PR L OA. ]

To prove:

Point P is on the bisec '
Construction: oSl 108

Join P to O.
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pEoe Statements

| e ey

il

APOQ < APOR - Reasong

N pQO = ZPRO o

SR Ly N (right a

PQ = PR given
APOQ = APOR
Hence, ZP0Q = ZPOR HSz=H.S

(corresponding angles of
e, P is on the bis ector of congruent triangles)
/AOB.
OR

Pr -
o that Parallelogram on equal bases and

havin :
area. 9 the same (or equal) altitude are equal in

(D For Answer see Paper 2017 (Group-l), Q.9.(OR).




